CCGPS Anadlylic Geomeiry Factoring Practice Day 3

Factor each polynomial and solve
L 52+ 13x+6=0 2. 12x°=12x

3. 12X~ 2x-30=0 . 4. 4x>+22x+24=0

5. 8x° —6x° = 14x 6. 9’ —4 =0




7. 18’ —15=-39x

8. 4x*+4x—-3=0

9. 2xX=—8x+ 42

10. 6bx” + 7bx +2b=0

1. 4 +6x—-4=0

2. —x—-42=0




Factor each polynomial and solve
1. 5*+13x+6=0
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3. 12x— 2x-30=0

2(6x"-x-15)=0
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7. 18x*—15=-39x
($x°+39x -/15 = U
3(6x+ 13x~5)= 0
| 3(3x ~1)(2«+5)=0
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8. 4x*+4x-3=0

| (= 1)g+3 )=0
X= ,/2J'%
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9. 2x°=—8x+ 42
Z>(2+?X“L'L7- =0
2(x*x-21)=0
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10. 6bx” +7bx +2b=0
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M. 42 +6x—-4=0
2(2x*+3x-2)=0
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V2(2x ~ 1) (x+2 )=0
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2.7 —x-42=0
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